30 Child Development & Pedagogy Questions Set (All
are important)

Topic:- Child Development & Pedagogy (CDP)

1) Bipolar disorder is which type of disorder? /

feydt R (arguier fFwRITER) fFa yoR &1 fder 82
1. Mood / FHIGRI (43)

2. Learning / ity

3. Personality / Hfgad

4. Thought / faar (e

Correct Answer :-

+ Mood / HHIGRT ()

2) Which of the following best describes the Theory of Mindset? /

FrafafEa & & o-a1 aFRear & Rigia $1 9ad st quiF Hedr 82

1. Fixed mindset stops cannot be changed / TR AFRI&ar favm (fraas AIgsde W) &I gl Tal o gabdl B
2. Fixed mindset only brings failure / RR AR (ﬁfﬂg 'FTIE%@T:’) I BT ot %I

3. Growth mindset defines Intelligence / Wi AR, TG B TR HaT 2|

4. Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /Eﬁ@'ﬂﬂﬁlﬁ, Gwﬁwmw%wﬁ
T B, GURA 3R fIeBid B T SR A 71

Correct Answer :-

» Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /Eﬁ—éﬂﬂﬁl@?ﬂ, mwaﬁwnmﬁw%wﬁ
Tl B, GURA 3R fasRid 81 &1 sraaR Tt 1

3) Which of the following is a social-learning theorist? /
frafufa & & $19 ve amfe-Rien Risia 82
1. Bandura/ SigXT

2. Freud/ ThIIS

3. Wundt / gUc

4. Pavlov/ UTdAd

Correct Answer :-
« Bandura/ g1
4) Ruhi; an 11-month-old child calls every white liquid object as milk. Which

element of the concept development process is shown by Ruhi?/

%ra;nnﬁﬁaﬂﬁh%sﬁ?agmmmaﬁaﬁgﬂm%lwmmmmmmﬁmumwwmw

1. Analysis / fa=asor



2. Abstraction / \Wﬂﬁw

3. Generalization / JHFIH U]
4. Experience / 3{JHd

Correct Answer :-

« Abstraction / HWUT

5) Learning is generally considered a lasting change in behavior based on:/
HrT=a: S, e 1R s SR # T Rt ufvad= AT S 8
1. Challenge and reinforcement / @ﬁﬁm IR ﬁ?m

2. Challenge and experience / ﬂ:hﬁl'q'[ 3R 3Hd

3. Practice and experience / 3{¥IT 3R 3JHg

4. Practice and challenge / ¥ IR ?Eﬁﬁ'm

Correct Answer :-

 Challenge and reinforcement / ﬂ:ﬁﬁm’[ IR g%’a"rwm

6) The concept of “inner speech” was introduced in language development by: /
YT & It ® “SHiae HTYur” F SGURON 37 GRT RY B1 78 i
1. Piaget / st

2. Chomsky /AP

3. Vygotsky ICIEIRICHS
4. Skinner RFR

Correct Answer :-

* Vygotsky ICIEIGECH

7) Algorithms and Heuristics are the strategies of

|

Fod IR (Teiian) ofi odwor (ggffeaw)_ &t voriferi 81
1. Teaching / TRI&OT

2. Problem Solving / JHIT JHTYTH

3. Learning / 31T&TH

4. Thinking /

Correct Answer :-

« Problem Solving / THIT JHTYTH

8) Which of the following statements is true? /

e d s aTsE I e

1. Growth is only a mental process / 3f& Had T AFRIG UihaT g

2. Heredity doesn’t affect the learning process. /3MaifR1edT, TRRTH Ufshar T yafad el Bt 31

3. Development is only a quantitative process /[d@T, Had U TR UihaT gl



4. Learning is a process of behavioral changes / ST ATagIRS URadHl &t ufhar 3|

Correct Answer :-

« Learning is a process of behavioral changes / 3{TRTH HTgTNE TRadH &1 Ufshar g1

9) The ability to apply a given general principle to a particular situation is called ./

ot famiw afvfRufar & fasedt fow o wmm=a R &Y @] & ot grar &1 PRIl
1. Inductive reasoning / 3{THT L2

2. Exceptional reasoning / MaTfe® adb

3. Deductive reasoning / IBUEEKED

4. Logical reasoning / e ab

Correct Answer :-

« Deductive reasoning / IBUEEKED

10) What form of learning is displayed when children imitate the violence they see in their favourite video games? /

AT BT P 1 0 YR g1 § 7 9= 39 fF1 oY et Sara § it oo udier difEar A9 A dwa §2
1. Operant learning / foaToRIA SHfeTH

2. Observational learning / 3fadid SHfTH

3. Conditional learning / 3fsifI SffemH

4, Latent learning / 3{oTcd {fRATH

Correct Answer :-

» Observational learning / SqarH T

11) What involves the repetition of information so that it moves from the short term to the long term memory? /
a1 B GRIgHT & 1 Wi § a1 a8 ag-oraie | S-Preie Wi 9% 9a?

1. Coding / @_C'WW

2. Rehearsal / EE‘T'EIW

3. Chunking / ©fd

4, Storage / G-UGU

Correct Answer :-

» Rehearsal /Q@TW

12) Differences in behavior between two cultures can be attributed to: /

3 Ypfaul & dia sgaeR # 3iav & fore 39 ISR |l o Yehal 8:
1. Geographical background / Wq@‘l@
2. Socialization /FHTSIEHRO]

3. Heredity/3{Td R

4. Environment / dTdTdR0T

Correct Answer :-



« Socialization /AHTSIEHROT

13) Piaget developed important stages of cognitive development. /
A AdTAee e ®  "gayul 911 [aefie e

1. Five / UTd

2. Eight / 3{l6

3. Four /dR

4. Three /<

Correct Answer :-
e Four/dR

14) TItis easier to deal with all social situations, if you are aware of your ./ Tt wrfore fRufaat & fAaer smae %, gfe 3y 3 - &
TRA A B

1. Interests / ESEL]

2. Talents / Eﬁ'q}f

3. Personality / fadd

4. Hobbies / M1

Correct Answer :-

« Personality / fadd

15) IQ scores are generally __ correlated with academic performance. /
AR R NZF TR B 0L Qe ye s ay_ Agwiagiud gid €1
1. Least/ H

2. Highly / 3fafeid

3. Moderately / H&H =0 I

4. Perfectly / @ WY

Correct Answer :-

« Highly / 3fde

16) Which part of the brain is responsible for thinking? /
AKTSS BT P14 A1 U i & frg iR g2

1. Medulla / AT (e

2. Limbic system / WW GE| (ﬁ’lﬁ?ﬁ m

3. Cerebellum / 3‘@%@ (@ﬁv_ﬂ'ﬂ)

4. Cerebral cortex / THTSH dedpc (@W Eh—\ﬁ?\q)

Correct Answer :-

« Cerebral cortex / TR dedpc (@W ﬁ?ﬂ)

17) Which of the following is a part of our working memory? /

frafafad # @ 919 s9r srdxha wia o1 ws R e



1. Central executive / &I HIBGR

2. Declarative memory / STSUITA® Wl
3. Semantic memory / Xsaref Ffd

4. Sensory register / Fagt Morex

Correct Answer :-

« Central executive / HET BRIBRT

18) Which of these classroom practices may undermine pupils’ motivation at school? /

T8 A BH-Q &1 P g femey & faafial 3t ion 1 o0 2 Todt @2

1. Teachers fail to notice students’ difficulties for remediation / FR1&f® gRT faenfia @t wfE-real &1 e FA & fore I g § Srythd XgT!
2. Teachers grade pupils’ competence as high / fR1&ie gRT faeniat &t avgar § &ifde I8 3

3. Teachers encourage low performing learners / fRI&f@ GRT 5 UGR &= a1al SR dlsll o1 Uieifed &vap

4. Teachers judge high achievers as excellent in high academic standard / RI&/® GRT 3= &I TS & IHTA & T4 & I JUaied W B ardl
STl BT

Correct Answer :-

« Teachers fail to notice students’ difficulties for remediation / R1&ie gRT fa=nffa &) wfg-Tgal &1 FgM B3 & forT I Ugam H 3thd &

19) Which are the two Associative Learning theories? /

3 Hgantt oftrm Riia #19-9 32

1. Classical Conditioning and Operant Conditioning / R 3fdYT (Tﬁ‘lTﬁIW ﬁ'ﬂﬁ"'{) 3R gt 3fdY (Gﬁlﬁ‘c’ ﬁ'ﬂﬁ"'{)

2. Classical Conditioning and Oppressive Conditioning / R S (RIS T HeIR-T) 3R IaSH U (HTRRIT B
3. Classical Conditioning and Operative Conditioning / IRAT 3y (af‘l'lﬁlm mﬁ"’f) 3R ﬁﬂl'lqﬁﬁ 3JEYT (m mﬁm

4. Classical Conditioning and Observant Conditioning / IRE 3rdYT @T"lﬁw HO_SKTSZ'lﬁ"T) 3R 3BT 3rJdYA (Gﬁﬁlﬁ% mﬁ"ﬂ

Correct Answer :-

« Classical Conditioning and Operant Conditioning / AT 3fdY @FIT@IW CaSIRIER ) 3R gt 3fdY (Gﬁui.? CESRIRE )

20) Nive’s father has grey hair and is tall, so she thinks that all fathers have grey hair and are tall. Which stage is this approach? /

1ga & e & 91a Wibe SR @ B, ST a8 Wiud! @ i @it & fran & arar v ok o €1 78 eRH i srqmn A @2
1. formal operational stage/ ST TihaTeD TR

2. concrete operational stage / Td WfohaTeH® TR

3. sensorimotor stage / YTRTHICY TR

4, pre operational stage /Jd HfshaTaTd AT

Correct Answer :-

» pre operational stage /Uﬁ?—lﬁfqﬁqﬁ SHART

21) Eysenck added a third dimension to the personality trait, which is:/
3MEHP A Afkicd P TP AR MU P 1 H1 €, T8 HI-AT 8?2

1. Agreeableness/ HgHddl (@ﬁ@m

2. Conscientiousness/ 3fdfddem2iadr (?ﬁ:ﬁmﬂ)

3. Neuroticism/ TRifeed



4. Psychoticism/ msﬁ%m

Correct Answer :-

« Psychoticism/ WTg®IfesH

22) A child cannot wait his turn to bat and often runs on to the field when someone is already batting. What problem could the child be facing? /

TS ST geaaTst P T Ut I} B1 SaeIR 781 X ThdT 3R RR AGH W GISdl ¢ o DI Ugd A g1 Teciarsil & 381 gial & | T=1
e o= & g1 3@ g e

1. Dysgraphia / SRR

2. Attention Deficit Hyperactive Disorder / THTE Ud Srfaafeadr faer
3. Attention Deficit Disorder / &I 31HTd fdHR

4, Autism / 3T )3ﬂa:|faTﬁ—6'(

Correct Answer :-

« Attention Deficit Hyperactive Disorder / STHIHIG uq Afaafpad deR

23) Who among the following is a humanistic theorist? / fafafeadd o= TP HHaAIare! RISiaeR 22
1. Sigmund Freud / s wras

2. Ivan Pavlov / dT LIGRIG]

3. Aaron Beck / QR 9%

4. Carl Rogers / It o

Correct Answer :-

o Carl Rogers / P Aord

24) Attitude towards learning is best defined as something that ./ SfRTH & fa eREIr @ Tav ot Aie & wu A ufeurfya foar sirar
gS__ B

1. can be modified only by the learners themselves/ Faq Renfiat grr € =i farar S gwar

2. can be modified with age/ 31T & 1Y G=NTAT foHaT o qhelm

3. can be modified by creating positive learning environments/ HHRIHD SEATH TTATaRr SRR SN oo S wevar
4. cannot be modified/ T :%1 fosar &1 gan

Correct Answer :-
« can be modified by creating positive learning environments/ HHRIHD ST IIATARUT SR RN foram S qapar

25) Round Robin Charts are used as a formof ./
WA IE . FEuAuyged fpuwme B

1. Summative Assessment / ANTTHD ATH AT

2. Diagnostic Assessment / FGHIA® 3aar

3. Interim Assessment / 3ART 3Tpa

4. Formative Assessment / XdTHD Th A

Correct Answer :-

¢ Formative Assessment / XIATHD H[h



26) Today’s classrooms are likely to have a wide array of cultural, ethnic, and racial ______among student /

TS & weqefl # B & v, GRpfae, A iR awty @) te fawga g@ar 81 & Gy 81
1. Dynamic / gfgpaar

2. Similarities/ JHTIATY

3. Diversity / fafaeran

4. Continuities/ fARaRaT

Correct Answer :-

« Diversity / fafaean

27) Giving a stimulus to a child once to motivate him/her is:/
o T T e Y B o I SR T PR e
1. Continuous reinforcement /ﬁwm

2. Operant conditioning /Gﬁ’wmﬁﬂ

3. Reinforcement/m

4. Neutral stimulus / dC&J ol

Correct Answer :-

. Reinforcement/m

28) As a teacher when you are working in a inclusive class room, your role should be: /

T 18 $ T o9 AT TP TATAMN H&T § BT B3 31 81 €, af MUt Yfirer gt =R w:
1. Punisher /&S o aren

2. Care taker / S@HTS B ATl

3. Investigator / 3AYH

4, Facilitator / alddh

Correct Answer :-

o Facilitator / g

29) ‘Bob can put together a model airplane’. This statement is an indicator of which attribute of aptitude test? /
'qTq TP AISd gaTs STeTs B! TP TTY T Tdha & I 98 Y, gy udterr @1 fe faxivar &1 wdba 82
1. Clerical thinking /Wﬁk_‘ﬂ

2. Spatial thinking / e fiaa

3. Organisational thinking/ﬂ""l—o'_'l'l—cqﬁﬁiﬁq

4, Intellectual thinking/mf%iﬂq

Correct Answer :-

« Spatial thinking/Wﬁﬁ?



